TECHNICAL SUBMISSION

8.7.1

3

Figure. 14
Details1
Bcale 1:2p

N

ROOF SHEETING:

0.58mm thick. Corrugated box rib profile.
Manufacturer_Global roofing solution; white; Br7.
cover width 889mm, fixing 1680mm c.c

Fixed to steel purlin according to manufacturer
specification

-BEAM:

hot rolled steel I-beam: 330 x 170 x 8mm,as per
calculation.

chromadek pre painted.

Nate: web cut back to express flanges and allow
for reduces sheeting length and gutter depth

FLASHING:

Purpase made flashing, fitted between i-beam_
Manufacturer_Gutter fast; colour to match roof sheet.
0.58mm, hot dipped zinc coated carbon steel sheets.

GUTTER:

Custom 340x 1060 x 0.6mm continuous hot-dipped
zinc coated

carbon steel sheets. with profiled edges.
Manutacturer_Gutter fast; colour to match roof sheet.
as per calculation.

Bracket installation in strict accordance with
manufacturer specification

C-SECTION:

Cold rolled steel structural ¢ —section

300x 540x 2mm, galvanised,

bolted to H-BEAM. M10 grade 8.8 galvanised bolts,
washer and hexagon nut..

H - BEA

300x 3unx 8mm steel beam @ 5300mm span as per
calculation.

bolted to vertical H-BEAM on 8mm steel plate, m12
grade 8.8 bolts.

BALUSTRADE:
mild steel handrall hot dipped steel flats galvanised
120x 6x 500mm_horizontal

120x 6x 1100mm._ vertical

120 x 6x 7560mm._ vertical
mmmmbndmmwwm

boits m10, m42,monmp|ym MNBIMM/IWI

1100mm high, opening size 100m:

ALUMINIUM MESH:
anodised aluminium mesh mill phosphate.
powder coated to approved colour.

480mm x 8640mm x 1mm sheets, lmthdnlmlnlly
Bolted to mild steel frame. in accordance with suppliers
specification

PASBAGE FLOORING 1:

Timber hardwood

Federated timbers; factory olled and vamished: irocko
200x 1480x 50mm on joist between beams

Timber fioor joist @ 200mm c.c screwed with self tapering
wood steel screws, oountersunk head 80mm @ &.6mm stesl
NOTE: 20mm gap between structure and timber board for
movement joint

UNEQUAL ANGLE:

Mild steel angle

65x 300x 65mm fixed to H-Beam

cold rolled. gaivanised; powder coated to match H-beam

Fixing? Bolted to h-beam by balustrads bolting m10

H - BEAM:

300x 300x Bmm steel beam @ 5300mm span as per
calculation.

bolted to vertical H-BEAM on 8mm steel plate, m12
grade 8.8 bolts.

MAMELODI_ CIVIC AND COMMUNITY SERVICE

wre 10002008 | S8 1MNGM
TRAVN BY: e | CEDED B
APPRIVED PV CHECKED DATD
SITE DESCRIPTIN
Univeruly of Peiate:
Hane Srytom, B SR
[
IRWING TITLE:
COMMUNITY
FACILITATOR
[T
PROELT Mo
Ubdaster Arshitosture Goeoristion 2000 Uvarsly of Pinte
IRAVING Mo, REV.

MArch UP_PLAN_001_PO1A. 2008| C

147._




UNIVERSITEIT VAN PRETORIA
UNIVERSITY OF PRETORIA
Qe YUNIBESITHI YA PRETORIA
é
o
2]
m
D SEATING: FACADE SCREEN:
w concrete seating. Polycarbonate sheeting
1§nx 550mm ) SUNTUF; mix colours. polycarbonte sheet panels
Pigmented colour, smooth surface and edging . Fixing: with 6mm 2 self tapering screws, with neoprene washers
pre—cast unit with bull-nose edge and weather drip front side. and galvanised steel caps, with seallna strip and side laps
O ® Fixing: mortored in place, installed by supplier In 1ce with i 1,
b CHANICAL ASSISTED LOUVRE: cover width 686mm.
Z | :iﬂ stesl frame 776mm c.c on cold formed galvanised steel purlins 176mm.
I 2700x 380x Bmm; Steel purlin bolted to steel angle cleat with m10 bolts
o = Al " A b!ld.ﬂlllnl jum | cleat welded to t-beam w350 grade.
- 76x 0.25mm; 50 stf alloy sections, powder coated o
E ® = external fly screen, 6mm anodised angle frame, 0.026mm @ ﬁl{" gﬁ;;l EQ;_I '
= thiok soreen, louvre linked to fan louvre jet motor 0 168x 300x 5mm; Galvanised and powder coated
. r_F A -1kw p/m M passive ventilstion Fixing: Bent member fitted to cupling support with m12
. ;HMY Bﬁ galvanised bolts, galvanised washer and hexagonal nut
1l Corobrik; firelight satin & Roan satin; FEX_clay face 59
SOOI\ Soldier coarse top left,Strelcher band mid left, header course = g CUPLING SUPPORT:
3 |l bottom rig joints and wall ties. i mild steel cold formed
1
II II i | Where required loint and 200x 200x 8mm; Galivanised and powder coated to matoh struotural -T]
8.7.2 e o inpregnated. Fixing: angle bk to -socton vertcl boa,
— || YT e FLOORSLAB: Angle boed 120 216 mm gaheniesd weided doubl angle.
Reinforced concrete slab, two—-way slab span to horizontal H-Beam with 2x m12 grade 8.8 galvanised
176.67x 5300mm(5300/30 of 28-35 |/d factor = 176.67mm) hlmonml nuts and bolts. Galvanised angle boited to double weided
| over concrete t & | beams, 390.74mm including slab angle by M16 grade 8.8 bolts
= sl (creating ring beam) (10550/26 of 20-30 I/d tactor = 380.67)
_390.74mm -176.67mm CLAY BRICK:
=214.07mm effective beam thickness Seo detall 3 nots.
Figure. 139 =i ( see costing comparison calculation for reason for system
Details 3 &4 chosen) using I-BEAM as part formwaork in construction
. I-BEAMS:
Scale 1 25 cold rolled steel i-beam
span: 5300 mm, required
(5300/18 of 18-26 I/d factor = 294.44mm),
proposed 380mm x300mm to fit to slab & beam thickness
JOINT:
Mid steel piate
8mm gaivanised butiered ates!
wl cast into concrele, overhang: 20mm gap from suspended Bimber floor
(&) "’
Ll
(7]
=<
g
E Wi e | XD 1meM - - - - - — — — — - - =" " =/
O TRAVN BT adoNes | CEDED B
0 PPROVED BV CEDIED TE | | | |
2 [ | | |
Unbvenily of Pulate
o Hane Siydem, BN 00
o — | | |
= FACILITATOR | | |
(m] oETALS A
9 ==, | | |
[TT] UiMastor Asehitostwre disoovinion 2000 Uvbanly ot Protele
TRAVDEG No. RV, | | | |
March UP_PLAN S01_PO1A. 2008 | C I

148 _




TECHNICAL SUBMISSION

8.7.3_

Figure. 140
Details 5 & ¢
Scale 1:25

% %

WINDOW FRAME:

Aluminium frame and glass

Smartglass; aluminium colour powder coat frame, 100mm frame
sample door and window inset. all to comply with sans 1651.
Fitted In accordance with suppliers specification and instalation
Nots, mastic sealant at external of frame to structurs

Smartglass; Coolvue glass

8.76 mm hps laminated polyvinal butryal coolvue saftey glass.
Fitted into aluminum frame:in accordance with suppliers specification
and instalation. Note: 0.76mm hpr soundprufe interiayer,

Mastio sealant at external of frame to structure

FACADE SCREEN:
See detail 4 note.

FLASHING:

Purpose made flashing,Manufacturer_Gutter fast; colour to match
roof sheet.

0.58mm, hot dipped zinc coated carbon steel sheets.

fixed to H-beam and over facade screen edge at gutter and
aluminium frame

GUTTER:

Custom continuous hot-dipped zino coated

220x 300 x 0.8mm, carbon steel sheets. with profiled edges.
Manufeciurer_Gutter fast: colour to match roof sheet.
Bracket installation in striot acoordance with manufacturer
speoification

H-BEAM:

300x 300x 8mm steel beam & 5300mm apan as per calculation.
boited to vertical H-BEAM on 8mm steel plats, m12 grade 8.8 bolits.
additional 2x 8Bmm steel web welded. 800mm X 300mm

ALUMINIUM FRAME:

Smartglass: aluminium oolu.vnuwdlvcu(lmno.

100mm frame structural hollow
mmsmmmmmmm into H-beam.
holes predrilled at factory.

Fitted In accordance with suppliers specification and instalation
Note, mastio sealant at extsrnal of frame to struoture

COMPOSITE WALL CLAD:
0.568mm thiok corrugated box rib profile sheeting and sisalation centre
Manutaoturer: Global roofing solution: white and silver, br 7

super
Fixing: 36mm steel tubing frame.
Sheeting pop-rivet fixed. Centre cavity filled with sisalation
pop-rivetad fo tubing and wound to straining wire.
Auunu-uonm,ﬂmmmwmmmmnmm
and instalation

SUN SCREEN:

hot dipped galvanised mild steel plates.

100x 1825x 3mm welded in faotory (eans 2001-cs1)
bonodonl-BEAme grade 4.2 gaivanised boits

Punonmldlﬂufivn
Manufacturer_Gutter fast: colour to match roof sheet.
frame, installation in strict accordanoe with manufacturer,
specification

C-SECTION CLOSER:

Hot rolled mild steel

270x 340x 8mm, galvanized, powder coated to match
I~beam colour

Fixing: 6Gmm, bolted m10 and joints siliconed.
note: i-beam web cut back to fit c-section and
not efficiency

ROOF INSULATION:
Sisalation

super
Muwn/m' 1250mm c.c. uvalnpiﬁumm Aluminium
foll extemal, intemal

Fixing: Ityudnm ummwummmmdm.
75mm on side, 275mm c.c, fixed to steel puriin, layed
at even tension, secured by woop iron at apex and eve
puriin by pop rivet. laid same direction as sheeting
installation in strict accordance with manufacturer
speoifioation

CEILING BOARD:

Fibre cement celling boards,

Manufacturer: everite, fibre cement celling board,

white painted

1800X 6mm board at1200c.c

Fixing T's, fixed to 25mm x1mm gaivanised hangers on
4mm @ suspension

rod, fitted between -BEAM at edge and apex of room,
use wall angle

COMPOSITE WALL CLAD:
See detail 5 notes

WINDOW FRAME:
See detail 5 notes

MAMELODI_ CIVIC AND COMMUNITY SERVICE

—_
S
©

WB

DRAVING TITLE:

COMMUNITY

FACILITATOR

1_Master Asshitosture dissertafion 2000 Usivensly of Postnia

[MArch UP_PLAN_001_PO1A. 2008




	IMAGES 16
	Back to 09back

